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��MN�"�	�m���
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"�	�5���
�
+)������)�
�������������������� !�"#	�$�%��'���'() 
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'����
�
� �$���� 24 �')
 ���)� %�� ��)�����3�"������������ TOYOTA %�8�%�� ��)�����3�"
������"#	�#���)���"#	�+� (����
� 16.7) ��


��� � %�� ��)�����3�"������������ ISUZU �
� 
NISSAN (����
� 12.5) ��


��� � %�� ��)�����3�"������������ BENZ, BMW �
� 
MITSUBISHI (����
� 8.3) �
� %�� ��)�����3�"������������ FORD, HINO, HONDA, 
HYUNDAI, KIA, MAZDA, VOLVO �
� CETROENG %�8�%�� ��)�����3�"������"#	�#���)����"#	
�+�(����
� 4.2) B���#0�����0��*�����'�������������������������%�8�%�����
������ (����
� 
25.0) ������)�0��������'� �
�����
 (����
� 75.0) �
�������
������������������)���'()�#
��



���
�����)�  7 ����)������)�  50 �� (����
�79.2) B��������������������)���'()%�8������
���������������%�" �(����
� 50.0) ��


��%�8���������������������%�" � (����
� 16.7) 
��������!���%�8�
��32���
�����������"#	�#
��32���
��������������%�" � �
����%�" � 
�
������������"#	�#
��32����%�" � �
����%�" � B���#�$����%")���� (����
� 12.5) �)�������
������"#	�#
��32���
���%�" � ���%�" � �
����%�" � ������ �#����"#	�+� (����
� 8.3) �����
�������������)���'()��!
���)��%��%"���
 (����
�83.3) B���)���'()��5�)�#�������� 	�z���
������������������� (����
�54.2) ������������������)���'()�#���5�����)��*)�
 80,000 @ 
1,000,000 ��"/%� �� (����
�41.7) v9	
%�8����5��%7
#	� 1,551,250 ��"/%� �� �
�����%�
�"#	%���
�$�%�������)���'()%����$�%������5�)%��� 10 �} (����
�50.0)  B������%�
�"#	%����$�%������%7
#	� 
12 �} �
��#�+�
���"#	"$�
����������������)���'()�����)� 20 �� (����
�45.8) B���#�+�
���
%7
#	� 24 �� ������
�%�#�� ��
����
 3.1

����
 3.1 �$�����
�����
���
������������������$�������
��32�"�	�5�


��MN�"�	�m� �$���� n = 24 ����
�

%�� ����M�"������
BENZ 2 8.3
BMW 2 8.3
FORD 1 4.2
HINO 1 4.2
HONDA 1 4.2
HYUNDAI 1 4.2
ISUZU 3 12.5
KIA 1 4.2

MAZDA 1 4.2
MITSUBISHI 2 8.3
NISSAN 3 12.5
TOYOTA 4 16.7
VOLVO 1 4.2

CETROENG 1 4.2



����
 3.1 (�)�)


��MN�"�	�m� �$���� n = 24 ����
�

b�����b��F�����&��������
%�����
������ 6 25.0
0��������
�����
 18 75.0

������
�����������������

�����
�����)�7����)������)�50�� 19 79.2


�����
�����)� 50 �� 5 20.8
���%�"��
�����������������

���%�" � 4 16.7
���%�" � 12 50.0

���%�" � �
� � 3 12.5
���%�" � �
� � 3 12.5
���%�" �, � �
� � 2 8.3

����"#	��!
�����������������
��%��%"���
 20 83.3

��%��%"���
�$��
 3 12.5
���%��%"���
 1 4.2

�������� 	�}
5�)�# 13 54.2


���������������
�����)
������ 9 37.5
������
��
 ��� 7#� 2 8.3

���m��
80,000 @ 1,000,000 ��"/%� �� 10 41.7

1,000,001 @ 2,000,000 ��"/%� �� 8 33.3
2,000,001 @ 4,000,000 ��"/%� �� 6 25.0

x = 1,551,250        S.D = 1,003,816        Min = 80,000        Max = 4,000,000
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 3.1 (�)�)


��MN�"�	�m� �$���� n = 24 ����
�

����%�
�%�~��$�%���������
������)�'� �%")���� 10 �} 12 50

11 �} - 20 �} 9 37.5
21 �}�9!�5� 3 12.5

x  = 12        S.D = 9.7        Min = 1       Max = 40
�$�����G�
���

������)�'� �%")���� 10 �� 4 16.7
11 @ 20 �� 9 37.5
> 20 �� 11 45.8

x  = 23.7       S.D = 16.0       Min = 5       Max = 75

3.1.2 �����
�GN
��MN��(���G��
��
b�����b��F���
��G�
����������������������
3.1.2.1 �����
�+2
��32��)���+��
��
0�����0��*�������������������
�������9�3� ���)� 0�����0��*��������������������)���'()�#���������9�3���


�+���������((���# (����
� 50.0) ��


��%�8�������������#�������*�*#�*�!���
 (���.) (����

� 45.8) �
�������������#�������*�*#�����"#	�+� (��*.) (����
� 4.2) �#���+��'�)�
 35-45 �} 
%�8��)���'() (����
� 66.7) �
��)���'()�#��������2�"$�
����!
��) 6 �}�9!�5� (����
� 83.3) 0��
���0��*��������������������)���'()5�)%��0)���������������������������	
���
��� (����
� 
62.5) �
�5�)%��0)������������������������������
����� (����
� 54.2) ������
�%�#�� ��

����
 3.2
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 3.2  �$�����
�����
���
0�����0��*����������������������$�������
��32��)���+��



��MN��(���G��
 �$���� n = 24 ����
�

���������L�M�
�������#�������*�*#� 1 4.2

�������#�������*�*#� *�!���
 11 45.8
���((���# 12 50.0

���G����
��
���+ 25-35 �} 6 25.0
���+ 36-45 �} 16 66.7
���+ 46-55 �} 2 8.3

��������N�"$�
�� ( �$���� n = 568)
6 %� �� @ 1 �} 1 4.2
> 1 �} -3 �} 1 4.2
> 3 �} -6 �} 2 8.3
 > 6 �}�9!�5� 20 83.3

���b(���������������������������	
���
���
5�)%��0)��������� 15 62.5
%��0)��������� 9 37.5

���b(������������������������������
�����
5�)%��0)��������� 13 54.2
%��0)��������� 11 45.8

3.1.2.2 �����
�+2
��32��)���+��
��
�+�
����������������������
�������9�3� ���)� ������������������)���'()�#�+�
���"#	%�8�%��*�� 11-20 

�� (����
� 45.8) �+�
���%��*������"#	�+� 3 �� �+�
���%��*�����"#	�+� 66 �� B���#�+�
���
%��*��%7
#	� 18 �� �
��)���'()�#�+�
���"#	%�8�%��'(�
5�)%��� 10 �� (����
� 87.5) �+�
���
%��'(�
����"#	�+� 1 �� �+�
���%��'(�
���"#	�+� 20 �� B���#�+�
���%��'(�
%7
#	� 6 �� �
�
�+�
����)���'()�#���������9�3���
�+��������#�������*�*#�*�!���
 (���.) (����
� 64.4) ��



��%�8��������#�������*�*#� (��*.) (����
� 16.1) �#���+��'�)�
 25-35 �} %�8��)���'() (����

� 63.6) �
��)���'()�#��������2�"$�
����!
��) 6 �}�9!�5� (����
� 42.3) �+�
���"#	%��0)����



�����������������������	
���
����)���'()5�)%��� 10 �� (����
�87.5) �
��#����%�
�"#	0)��
�������������������������	
���
��� ������)� 1 %� �� %�8��)���'() (����
� 59.0) �+�
���"#	
%��0)������������������������
������)���'()5�)%��� 10 �� (����
�95.8) �
��#����%�
�"#	
0)������������������������������
����� ������)� 1 %� �� %�8��)���'() (����
� 48.7) ���
���
�%�#�� ��
����
 3.3

����
 3.3 �$�����
�����
���
�+�
�����������������������$�������
��32��)���+��



��MN��(���G��
 �$���� n = 24 ����
�

%��F�� ( �$���� n = 24)
������)�'� �%")���� 10 �� 6 25

11 @ 20 �� 11 45.8
> 20 �� 7 29.2

x  = 18.1       S.D = 13.4        Min = 3       Max = 66
%��&'�
 ( �$���� n = 24)
������)�'� �%")���� 10 �� 21 87.5

11 @ 20 �� 3 12.5
x  = 5.6       S.D = 5.0        Min = 1       Max = 20

���������L�M� ( �$���� n = 564)
��.���9�3�*�!��}"#	 6 29 5.1

�������#�������*�*#� 91 16.1
�������#�������*�*#� *�!���
 363 64.4

���((���# 81 14.4
���G����
�� (�$���� n = 585)

���+ 0-25 �} 103 17.6
���+ 26-35 �} 372 63.6
���+ 36-45 �} 86 14.7
���+ 46-55 �} 21 3.6
���+ 56-65 �} 3 0.5



    ����
 3.3 (�)�)


��MN��(���G��
 �$���� n = 24 ����
�

��������N�"$�
�� ( �$���� n = 568)
< 1 %� �� 2 0.4
1-6 %� �� 40 7.0

> 6 %� �� @ 1 �} 38 6.7
> 1 �} -3 �} 124 21.8
> 3 �} -6 �} 124 21.8
> 6 �}�9!�5� 240 42.3

���b(���������������������������	
���
��� ( �$���� n = 24)
������)�'� �%")���� 10 �� 21 87.5

> 10 �� 3 12.5
x  = 4.9       S.D = 11.1        Min = 0       Max = 40

����%�
�"#	b(���������������	
���
��� ( �$���� n = 117)
< 1 %� �� 69 59.0

1%� �� - 6 %� �� 32 27.4
> 6 %� �� @ 1 �} 5 4.3
> 1 �} - 3 �} 11 9.4

���b(������������������������������
����� ( �$���� n = 24)
������)�'� �%")���� 10 �� 23 95.8

> 10 �� 1 4.2
x  = 2.4       S.D = 4.7        Min = 0       Max = 20

����%�
�"#	b(������������������
����� (�$���� n = 37)
< 1 %� �� 18 48.7
1-6 %� �� 1 2.7

> 6 %� �� @ 1 �} 4 10.8
> 1 �} - 3 �} 14 37.8



3.2 �����
���������������	
���
����
������
�������
�����������������
3.2.1 �����
"�	�m����������������	
���
�����
�����������������
�������9�3��
+)������)�
 �������������+��
��3"�
����� ���)� �����������������

�)���'()5�)�#������
���
��3"�
����� (����
� 79.2) �
�5�)�#�+�
������0��*������
)��
�
��3 (����
� 83.3) ������������)���'()5�)%���#������
��0
����
)���
��3"�
����� (����

� 50) �
�5�)5���{���������������/����J������
)���
��3"�
����� (����
�45.8) �)��
�'()5�)5���#�������������$���������z (����
� 87.5) �
�5�)�#���������%��#����+���
�������� (����
� 79.2) ������
�%�#�� ��
����
 3.4

����
 3.4 �$�����
�����
���
����������������� �$������������
�����������	
���
��� ����
�������+��
��3"�
�����

�����������	
���
��������������G��
��M"�
����� �$���� n = 24 ����
�

���
���
��M"�
�����
          �# 5 20.8

 5�)�# 19 79.2
�G�
������b��F������
(���
��M

�# 4 16.7
5�)�# 20 83.3
�#�
����
��0
%� ��
����!
 (n=6) 1 16.7
�#�
����
��0
�}
����!
 (n=6) 2 33.3
5�)%���#������
��0
 (n=6) 3 50.0

���M�"�u���������������/����k������
(���
��M"�
�����
�*) 6 25.0
5�)�*) 11 45.8
5�)��)�� 7 29.2

���"#	�#�������������$����
������"�#�� 1 4.2
Greenhouse Gas 2 8.3
5�)�# 21 87.5



����
 3.4  �)�

�����������	
���
��������������G��
��M"�
����� �$���� n = 24 ����
�

�#���������%��#����G�����������
�# 3 12.5
5�)�# 19 79.2
5�)��)�� 2 8.3

�������9�3��
+)������)�
 ����������������!$�%�#� ���)� ������������������)���'()���
�'��#�)����5����/�!$����%� 	��$�����!$�%�#��)�������"�!
 (����
� 70.8) B���$�����!$�������)����5�
���%� ��
����!
 (����
� 33.3) �)���'()��5�)�#�����������+2����!$�%�#�%
� (����
� 79.2) v9	
��
��2#"#	�#��������������������)� BOD �
����������
�����"#	�+� (����
� 33.3) �!$�"�!
��

������������������)���'()%�8�5��������J�� (����
� 70.8) �
������������������"�!
'��5�)
�#����$��!$�%�#��
�����*��'�)%
� (����
� 100) ������
�%�#�� ��
����
 3.5

����
 3.5 �$�����
�����
���
����������������� �$������������
�����������	
���
�������
����������!$�%�#�

�����������	
���
�����������������!$�%�#� �$���� n = 24 ����
�

����$�����$�%�#��(�������"�!

5�)�# 5 20.8
�#�)����5����/�!$���� 17 70.8
� 	�z 2 8.3

����$�����!$�������(�����!$����
�����'�
����!
 3 12.5
%� ��
����!
 8 33.3
3 %� �����!
 7 29.2
� 	�z 6 25.0



����
 3.5  �)�

�����������	
���
�����������������!$�%�#� �$���� n = 24 ����
�

�����������GN����!$�%�#�
�# 5 20.8
5�)�# 19 79.2
COD ( n=6) 1 16.7
BOD (n=6) 2 33.3
pH (n=6) 1 16.7
���������
�� (n=6) 2 33.3

�!$�"�!
%�K�m��������k��
�*) 17 70.8
5�)�*) 7 29.2

�#����$��!$�%�#��
�����F��&�(
�# 0 0.0
5�)�# 24 100

�������9�3��
+)������)�
 �����������������
K�� ���)� ������������������)���'()�#
�$����"#	��
�����
K��������)�'� �%")���� 5 "#	 (����
� 75) ��


���#"#	��
�����
K����*)�
 6-
10 "#	 (����
� 20.8) B���#"#	��
���%7
#	� 5 "#	 ����
�50 ��
������������������#���������%�"��

K�� 2 "#	��
�����
K�� B���)���'()������������������#"#	�����
K�� 1 "#	 �
�����
� 50 �#���
������%�"��
K�� 2 "#	�����
K�� �)������$������
K����!� ������������������)���'() (����

� 95.8) �#����)
�)��'�'�)��
��� 	��$�5��$���� B���)���'()��"$�����$����"+���� (����
� 66.7) 
������
�%�#�� ��
����
 3.6



����
 3.6 �$�����
�����
���
����������������� �$������������
�����������	
���
��� ����
�����������
K��

�����������	
���
������������������
r�� �$���� n = 24 ����
�

�$����"#	��
�����
r��
�$����������)�'� �%")���� 5 "#	 18 75.0
�$���� 6 @ 10 "#	 5 20.8
�$���������)�'� �%")���� 11 "#	 1 4.2

x  = 4.9       S.D = 3.9        Min = 1       Max = 20
������%�" 12 50.0
5�)������%�" 12 50.0

�$����"#	�����
r��
5�)�#"#	�����
K�� 5 20.8
�#"#	�����
K�� 1 "#	 14 58.3
�#"#	�����
K�������)� 1 "#	 5 20.8

x  = 1.0       S.D = 0.7        Min = 0       Max = 2
������%�" 12 50.0
5�)������%�" 12 50.0

��J#����$������
r��
���%0� 1 4.2
�)
�)��'�'�)��
��� 	��$�5��$���� 23 95.8

����$�%�������$������
r��
"+���� 16 66.7
���%������ 6 25.0
�����'�
����!
 1 4.2
� 	�z 1 4.2

�������9�3��
+)������)�
 �����������������
%�#�������� ���)� �����������������
�)���'()�������)����������0
���)��'�%�����
%�#�������� (����
� 58.3) ����$������
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�������������!$�%�#���������������+
 (����
� 16.7)

�����������	
���
������������������
K�� ������������������)���'()�#���
��������	
���
������������������
K�� ���)�����������
�
 (����
� 70.8) ��


���#������
�����	
���
��������������
K�� ������# (����
� 25.0) �
������������	
���
��������������

K�� ��������������+
 (����
� 4.2) ���
$����

�����������	
���
������������������
%�#�������� ������������������)��
�'()�#�����������	
���
������������������
%�#�������� ���)�����������
�
 (����
� 83.3) 
��


���#�����������	
���
��������������
%�#�������� ��������������+
 (����
� 16.7)

�����������	
���
��������������+��
����"�
%�#�
 ������������������)��
�'()�#�����������	
���
��������������+��
����"�
%�#�
 ���)�����������
�
 (����
� 95.8) 
�
������������	
���
����������+��
����"�
%�#�
 ��������������+
 (����
� 4.2)

�����������	
���
��������������+�����������
������������� �����
�������������)���'()�#�����������	
���
��������������+�����������
�������������
���)�����������
�
 (����
� 70.8) ��


���#�����������	
���
����������+�����������

������������� ������# (����
� 25.0) �
������������	
���
����������+�����������

������������� ��������������+
 (����
� 4.2) ���
$����

�����������	
���
��������������+������	���%" �� �����������������"�!
'��
�#�����������	
���
��������������+������	���%" �� ���)�����������
�
 (����
� 100.0)



����
 3.15 �$�����
�����
���
����������������� �$�����������������������	
���
������
������������)�
z

�����������	
���
��� ����������������	
���
��� �$���� n = 24 ����
�

�������G��
��M"�
�����
�# ( > 14  �����) 2 8.3
����
�
 (10-14 �����) 19 79.2
���������+
 ( < 10   �����) 3 12.5

x   =  11.9          S.D. = 2.1            Min = 7            Max = 16
����������!$�%�#�

����
�
 (6-10 �����) 20 83.3
���������+
 ( < 6  �����) 4 16.7

x   =  7.83          S.D. = 2.10            Min = 4            Max = 10
�����������
r��

�# (> 14 �����) 6 25.0
����
�
 (8-14 �����) 17 70.8
���������+
 (< 8 �����) 1 4.2

  x   =  11.09          S.D. = 3.22            Min = 7            Max = 16
�����������
%�#��������

����
�
 (4-8 �����) 20 83.3
���������+
 (< 4  �����) 4 16.7

x   =  6.33          S.D. = 1.83            Min = 3            Max = 8
�������G��
����"�
%�#�


����
�
   (5 �����) 23 95.8
���������+
 (< 5 �����) 1 4.2

x   =  4.96          S.D. = 0.20            Min = 4            Max = 5



����
 3.15 (�)�)

�����������	
���
��� ����������������	
���
��� �$���� n = 24 ����
�

�������G�����������
�������������
�# (> 1 �����) 6 25.0
����
�
   (1 �����) 17 70.8
���������+
   (0 �����) 1 4.2

x   =  1.21          S.D. = 0.51            Min = 0            Max = 2
�������G������	���%" ��

����
�
 (4 �����) 24 100

3.2.3.2  �����������	
���
�����
��������������������"+��������
%� 	������2������������	
���
�����
�����������������������
�%�#��     ���

0��� � 0�������5���$�'������������������	
���
���B�������)
����������������	
���
������
��
�
+)� (norm critiria) %� 	��*��.���������������	
���
�������������������� B���*��)�%7
#	� (�)�
%7
#	� = 47.3) �
��)��%�#	�
%������J�� (S.D. = 6.8) ���%�26�"#	�$�'���������$�'�������
�����������	
���
�����
��������������������%�8� 3 ����� � �

�����������	
���
���������# > 55   �����
�����������	
���
������������
�
 40-54 �����
�����������	
���
��������"#	���������+
 < 39   �����
���0
����9�3��
+)������)�
 ���)� �����������	
���
�����
�������������

�����)���'()���)�����������
�
 (����
� 58.3) ��


���#�����������	
���
���������# (����

� 29.2) �
������������	
���
��������"#	���������+
 (����
�12.5) ���
$���� ������
�%�#��
��
����
 3.16
����
 3.16 �$�����
�����
���
����������������� �$�����������������������	
���
���

����������������	
���
��� �$���� n = 24 ����
�
�����������	
���
���������# 7 29.2
�����������	
���
������������
�
 14 58.3
�����������	
���
��������"#	���������+
 3 12.5

x  = 47.3        S.D. = 6.8         Min = 33          Max = 60



3.2.3.3  ��������������
�������
������������������������������  '� �
�
��������������������������
����� B������*�����$���� ��
%�� ������0��� 7
                           %� 	������2��������������������
�������
����������������� ���������
����'� ��
�������������)�
z (������0��� 7) �
�����������������������
�����%�8� 3
����� � � ������# ���������
�
 �
���������������+
 ���)� �������������������
�����
��
�����������������������������������)�
z ������
�%�#�� ����
 3.17 %�8���
�#!

��������������
�������������"#	��!
�
��������
��� �����������������
�)���'()�#��������������
�������������"#	��!
�
��������
��� ���)�����������
�
 (����

� 70.8) ��


���#��������������
���������"#	��!
�
��������
��� ������# (����
� 16.7)
�
���������������
���������"#	��!
�
��������
��� ��������������+
 (����
� 12.5) ���

$����

��������������
�����������������

��32��
��
����������
%�� 	�
����
�
������v)�� ������������������)���'()�#��������������
�����������������

��32��
�
�
����������
%�� 	�
�����
������v)�� ���)�����������
�
 (����
� 83.3) ��


���#������
��������
�������������

��32��
��
����������
%�� 	�
�����
������v)�� ��������
������+
%")�������������# (����
� 33.3)

��������������
����������������+��
�����������+����%'�+�
������
��
��������"$�
�� ������������������)���'()�#��������������
����������������+��
����
�������+����%'�+�
������
����������"$�
�� ���)�����������
�
 (����
� 66.7) ��


���#
��������������
������������+��
�����������+����%'�+�
������
����������"$�
�� 
������# (����
� 12.5) �
���������������
������������+��
�����������+����%'�+�
�����
�
����������"$�
�� ��������������+
 (����
� 20.8) ���
$����

��������������
����������+��������
������
�������
0���{�����
�� �����
�������������)���'()�#��������������
����������+��������
������
�������
0���{�����

��  ���)�����������
�
 (����
� 66.7) ��


���#��������������
������+��������
�����
�
�������
0���{�����
�� ������# (����
� 20.8) �
���������������
������+��������
�����
�
�������
0���{�����
��  ��������������+
 (����
� 12.5) ���
$����



����
 3.17  �$�����
�����
���
����������������� �$�����������������������
��������
������������)�
z

��������������
����� �������������������
����� �$���� n = 24    ����
�

����"#	��!
�
��������
��� �#           (> 9 �����)               4 16.7
����
�
           (8-9 �����)              17 70.8
���������+
           (< 8 �����)               3 12.5

x   =  8.58          S.D. = 2.04            Min = 5            Max = 12
��������

��MN��
��
����������
%�� 	�
�����
������j(��

�# (> 15 �����) 2 8.3
����
�
 (11-15 �����) 20 83.3
���������+
 (< 11 �����) 2 8.3

x   =  13.13          S.D. = 1.68            Min = 10            Max = 16
�������G��
�����������G����%&�G�
������
����������"$�
��

�# (> 35 �����) 3 12.5
����
�
 (28-35 �����) 16 66.7
���������+
 (< 28 �����) 5 20.8

x   =  31.5          S.D. = 3.86            Min = 23            Max = 36
�G��������
������
�������
b���u�����
��

�# (> 21 �����) 5 20.8
����
�
 (15-21 �����) 16 66.7
���������+
 (< 15 �����) 3 12.5

x   =  18.0          S.D. =  2.86            Min = 13            Max = 22

3.2.3.4  ��������������
�������
��������������������"+��������
%� 	������2���������������
�������
�����������������������
�%�#�� ���

0��� 7 0�������5���$�'���������������������
�����   B�������)
�������������������
��
��������
�
+)� (norm critiria) %� 	��*��.������������������
���������������������� B���*��)�
%7
#	� (�)�%7
#	� = 71.2) �
��)��%�#	�
%������J�� (S.D. = 8.0) ���%�26�"#	�$�'��������
�$�'���������������������
�������
��������������������%�8� 3 ����� � �



��������������
����� ������# < 62   �����
��������������
��������������
�
 63-79 �����
��������������
����������"#	���������+
 > 80   �����
���0
����9�3��
+)������)�
 ���)� ��������������
�������
�������������

�����)���'()���)�����������
�
 (����
� 70.8) ��


���#�����������	
���
���������# (����

� 16.7) �
������������	
���
��������"#	���������+
 (����
�12.5) ���
$���� ������
�%�#��
����
 3.18

����
 3.18 �$�����
�����
���
����������������� �$��������������������������
�����

�������������������
����� �$���� n = 24 ����
�
��������������
����� ������# 4 16.7
��������������
����� ���������
�
 17 70.8
��������������
����� �����"#	���������+
 3 12.5

x  = 71.2        S.D. = 8.0         Min = 54          Max = 84

3.3 �����%����&�����������J���
�i���������
�����
��i���������G�
���"#	�#b
�(������������	

���
����
������
�������
�����������������

�9�3��4���������
���� (%�� ����3�" ����"#	��!
 ���%�" ���� ���5�� 0�����'�����
��� �$�����+�
���) �
� �4���������+�
��� (���������9�3� ���+ ��������2�"$�
�� �����
���2��������������������	
���
��� ��������2�����������������������
�����) "#	�#
����������.��)������������	
���
����
������
������������������������ ��%��� !�"#	�$�%��
'���'() ��
'����
�
� �*������"����5������� %� 	�"��������%�8����������)��#�4���������

"#	�#0
�)������������	
���
����
������
����� B���*���.# Fisherqs exact test

�$�'��� ��.# Exact Method %�8���.#���'��)� Sig. ��
���"����B���*���������

���
��
�)������"���� 5�)�*)��������
B�������2%'� ����.# Asymptotic ��
��!��)� Sig. "#	5��
�9
%�#���)� Exact Sig. '� � Fisherqs Exact Sig. �)� Exact Sig. �9
%�8��)�"#	������
�����)� Asymp 
Sig.

��)%� 	�
��������%����'�����������.�B���*������"���� Chi-Square ��!���
�#���
������
���������) � � �)������"���� Chi-Square �#�)��	$��+� = 0 ��)5�)�#�)���
�+� "$��'�0
��+�
��
���"����"���%�#�
��)�)� �������#����������.����'� �5�)%")���!� 5�)������"��������



����������.��)��������%�#�
�� ������%�#���
�����"���� Chi-Square �9
�#�����t�������"#	
�������*������2��)���������� Chi-Square �
�������������������������.���
������ �)��#
����������.�����������%�#�
�� �$�'�������9�3�������#! 0�������%
 ����.# Contingency Coefficient  
v9	
%�8������"#	�*��������������.���
������������%�
��� 2 ��� �
�������������������
������.�5����)5�)���������+"��"�
����������.�5�� B���������$�'�����������������
������.�5�� ��
�#!

         Value Contingency Coefficient < 0.3           : ����������.���
���������������
         0.3 < Value Contingency Coefficient < 0.7 : ����������.���
���������������
�

         0.7 < Value Contingency Coefficient           :  ����������.���
��������������

��)�9
��)�
5���������2��)������"+��)����
�����2��)������)� Significance ��
���
"�������� B��� �%���)������2� Significance %�8�'
��

B��0
�����%����'�����������.���'�)�
�������������
�4���������
���� (%�� �
���3�" ����"#	��!
 ���%�" ���� ���5�� 0�����'�������� �$�����+�
���)�
��4���������+�
��� 
(���������9�3� ���+ ��������2�"$�
�� ��������2��������������������	
���
��� �����
���2�����������������������
�����) ������������ (�����������	
���
���) B���*������ 
Pearson- Chisquare ���)� ����������� 2 ��� �#����������.���������������)�
�#����$���("�

����� ������
�%�#�� ��
����
 3.19

1) ���5���#����������.��)������������	
���
���    ����)� Exact Sig "#	�)���)� 
Pearson- Chisquare = 0.023 v9	
�)�"#	5���#�)�������)� 0.05 �9
�#����������.������)�
�#����$���("�

�����"#	����� 0.05 �
�%� 	������2��)� Value Contingency Coefficient "#	�#�)� 0.562 �9
�����2�5��
�)� ���5���#����������.��)������������	
���
��� �����������
�


2)  �$�����+�
����#����������.��)������������	
���
��� ����)� Exact Sig "#	�)��
�)� Pearson- Chisquare = 0.044 v9	
�)�"#	5���#�)�������)� 0.05 �9
�#����������.������)�
�#����$���(
"�
�����"#	����� 0.05 �
�%� 	������2��)� Value Contingency Coefficient "#	�#�)� 0.528 �9
�����2�
5���)� �$�����+�
����#����������.��)������������	
���
��� �����������
�




����
 3. 19 ����������.���'�)�
�������������������������	
���
�����
�����������������

�����������	
���
���������
Fisherq

Exact Sig.
(P)

Value of
Contingency
Coefficient

�����
����������.�

�i���������
����
- %�� ����3�"������ 0.124 0.760 ���
- ����"#	��!
 0.473 0.354 ����
�

- ���%�" 0.761 0.440 ����
�

- ���� 0.270 0.344 ����
�

- ���5�� 0.023* 0.562 ����
�

- 0�����'�������� 0.146 0.365 ����
�

- �$�����+�
��� 0.044* 0.528 ����
�


�i���������G�
���
- ���������9�3� 0.547 0.340 ����
�

- ���+ 0.176 0.457 ����
�

- ��������2�"$�
�� 0.880 0.354 ����
�

- ��������2�����
  ���������������	
���
���

0.437 0.281 ����

- ��������2�����
 ������������������
�����

0.856 0.156 ����

*  p < 0.05
0
�����%����'�����������.���'�)�
�������������
�4���������
���� (%�� ����3�" 

����"#	��!
 ���%�" ���� ���5�� 0�����'�������� �$�����+�
���)�
��4���������+�
��� (�����
����9�3� ���+ ��������2�"$�
�� ��������2��������������������	
���
��� ��������2�
����������������������
�����) ������������ (��������������
�����) B���*������ 
Pearson- Chisquare ���)� ����������� 4 ��� �#����������.���������������)�
�#����$���("�

����� ������
�%�#�� ��
����
 3.20



1.  %�� ����3�"�#����������.��)���������������
����� ����)� Exact Sig "#	�)���)� 
Pearson- Chisquare = 0.040 v9	
�)�"#	5���#�)�������)� 0.05 �9
�#����������.������)�
�#����$���("�

�����"#	����� 0.05 �
�%� 	������2��)� Value Contingency Coefficient "#	�#�)� 0.792 �9
�����2�5��
�)� %�� ����3�"�#����������.��)���������������
����� ����������

2.  ���%�"������������������#����������.��)���������������
�����     ����)� 
Exact Sig "#	�)���)� Pearson- Chisquare = 0.02 v9	
�)�"#	5���#�)�������)� 0.05 �9
�#����������.����
��)�
�#����$���("�
�����"#	����� 0.05 �
�%� 	������2��)� Value Contingency Coefficient "#	�#�)� 
0.652 �9
�����2�5���)� ���%�"�#����������.��)���������������
����� �����������
�


3. �$�����+�
����#����������.��)���������������
����� ����)� Exact Sig "#	
�)���)� Pearson- Chisquare = 0.005 v9	
�)�"#	5���#�)�������)� 0.05 �9
�#����������.������)�
�#���
�$���("�
�����"#	����� 0.05 �
�%� 	������2��)� Value Contingency Coefficient "#	�#�)� 0.606 �9

�����2�5���)� �$�����+�
����#����������.��)���������������
����� �����������
�


4. ��������2�����������������������
�����   �#����������.��)����������
�����
����� ����)� Exact Sig "#	�)���)� Pearson- Chisquare = 0.029 v9	
�)�"#	5���#�)�������)� 0.05 
�9
�#����������.������)�
�#����$���("�
�����"#	����� 0.05 �
�%� 	������2��)� Value Contingency 
Coefficient "#	�#�)� 0.475 �9
�����2�5���)� ��������2�����������������������
������#����
������.��)���������������
����� �����������
�


.



����
 3.20 ����������.���'�)�
����������������������������
�������
�����������������

��������������
�����������
Fisherq

Exact Sig.
(P)

Value of
Contingency
Coefficient

�����
����������.�

�i���������
����
- %�� ����3�"������ 0.040* 0.792 ���
- ����"#	��!
 0.860 0.299 ����
- ���%�" 0.020* 0.652 ����
�

- ���� 0.123 0.414 ����
�

- ���5�� 0.120 0.485 ����
�

- 0�����'�������� 0.216 0.366 ����
�

- �$�����+�
��� 0.005* 0.606 ����
�


�i���������G�
���
- ���������9�3� 0.223 0.454 ����
�

- ���+ 0.789 0.282 ����
- ��������2�"$�
�� 0.710 0.408 ����
�

- ��������2�����
  ���������������	
���
���

0.067 0.443 ����
�


- ��������2�����
 ������������������
�����

0.029* 0.475 ����
�


*  p < 0.05

3.4 �����
�����i'&��
��G����� �������������G
���m��
�������� ���������������	
���

����
������
�������
�����������������

�������9�3� ���)� �4('��
��+��������������������	
���
��� �#�4������������
��
�#�)�%7
#	����"#	�+� � �  20.2 �4����������.#����#�)�%7
#	� ��


�� � � 14.04 ��


��� � �4��������
%
��"+��#�)�%7
#	� 14.0 �
��4��������%�� 	�
����/%�� 	�
� ��#�)�%7
#	�����"#	�+� � � 9.6 ���)����

�4('��
��+�����������������������
����� �4������������
���#�)�%7
#	����"#	�+� � �  19.6 



�4����������.#����#�)�%7
#	� ��


�� � � 15.2 ��


��� � �4��������%�� 	�
����/%�� 	�
� ��#�)�%7
#	� 
13.7 �
� �4��������%
��"+��#�)�%7
#	�����"#	�+� � � 13.4 ������
�%�#�� ��
����
 3.21

����
 3.21 �4('��
��+��������������������	
���
����
������
�����

�i'&��
��G�����
x

S.D. Rank

���������������	
���
���
1. �4������������
�� 20.2 22.5 1
2. �4��������%
��"+� 14.0 19.6 3
3. �4����������.#��� 14.5 17.5 2
4. �4��������%�� 	�
����/%�� 	�
� � 9.6 12.4 4
������������������
�����
1. �4������������
�� 19.6 20.5 1
2. �4��������%
��"+� 13.4 16.9 4
3. �4����������.#��� 15.2 19.4 2
4. �4��������%�� 	�
����/%�� 	�
� � 13.7 16.6 3

�������9�3� ���)��������������+
���5��
�������������������	
���
����
�
�����
���������������������� �#��������������+�
������������������	
���
�����
��'�)�
����{�����
������+�
��������%")�������5������������B��'�)��
��"#	%�#	�����
 (����

�37.5) �)����������������+�
���������������������
����� �)���'()5������������
�)������{�����
������+�
�������� (����
� 41.7)    ��


��%�8��������B��'�)��
��"#	
%�#	�����
 (����
�37.5) �)���'()�#���������������������	
���
����
������
��������
'�)��
����
��J (����
� 50) �'
)
�����
���������������	
���
����
������
����� %�8�����
����'�������� (����
� 37.5) �
��#���������+����'�)��
����
��J�
�%��*���������*����
�����)�����
������2 (����
� 58.3) ������
�%�#�� ��
����
 3.22



����
 3.22  �$�����
�����
���
������������������$�������������� ������+
���5��
�
������� (0��������������������%
 �����5�������)� 1 ���)

�������������G
���m��
����������� �$���� n = 24 ����
�
��������+�
������������������	
���
���

�����)���{�����
��B���+�
�������� 6 25
������'�)�
�{�����
��B���+�
�������� 9 37.5
����B��'�)��
��"#	%�#	�����
 9 37.5

��������+�
���������������������
�����
�����)���{�����
��B���+�
�������� 10 41.7
������'�)�
�{�����
��B���+�
�������� 7 29.2
����B��'�)��
��"#	%�#	�����
 9 37.5

���������������������	
���
����
������
�����
'�)��
��%��*� 4 16.7
'�)��
����
��J 12 50.0

�'
)
�����
���������������	
���
����
������
�����
%�����, �0)���� 8 33.3
�������/�'�������� 9 37.5

���������+����'�)��
����
��J/%��*�
������*���� 14 58.3

������2 1 4.2


